= 20175413 H5-D25>7 JENEE
B TE R Bm | AlE® | BlEuE | mHERIE | HEEB/cmd)| RXE ¥ F Ah&E
[EES 8:00~8:10 7 A2 9A | 3.24E-06 1.96E-05 1.96E-05 &
R’ 3.24E-06 2.87E-05
£ fiz] 3.26E-06 1.23E-05 3
% 8:50~9:00 1A = 326608 104E=05 2.87E-05 &
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fegen =
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R’ 3.24E-06 1.96E-05
p A0 9- i) 3.26E-06 1.78E-05 3
E%#% 12:30~12:40 B = 326608 166505 1.96E-05 &
i 3.29E-06 1.55E-05
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= 20175414 H5-A35>% kT
B 7E B EFE | AEE | BEMNE | BRHERE|#EE®B/cm3)| RAE ¥ Ah#E
[ES: 8:00~8:10 E[%: Y AR | 3.25E-06 2.09E-05 2.09E-05 & _
Y 3.25E-06 2.88E-05
A0 i) 3.36E-06 7.60E-06 3
L 9:40~9:50 A = 324E06 3 12E-05 3.77E-05 &
it 3.33E-06 3.77E-05
fesern =
(1EIENGD ﬁ
158)
i
Y 3.25E-06 1.84E-05
. 1. i) 3.36E-06 1.20E-05 3
L 11:00~11:10 B = 324E06 1 47E-05 2.45E-05 &
it 3.33E-06 2.45E-05
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= 20175456 H5-C25>% = A R
B E R Bm | AlEE | BEuE | mHERE | HEEB/cmd)| RXE ¥ F ABZE_]
[EES 7:50~8:00 A2 9A | 3.24E-06 2.87E-05 2.87E-05 &
R’ 3.24E-06 1.84E-05
A0 fiz] 3.26E-06 1.66E-05 3
LS 9:40~9:50 = 326E-08 1 90E-05 1.90E-05 &
i 3.29E-06 1.74E-05
fegen =
(1[EENGD &
154)
it
R’ 3.24E-06 1.16E-05
P 1o, i) 3.26E-06 9.21E-06 3
E%% 12:20~12:30 3] = 326608 1 04E05 1.16E-05 &
it 3.29E-06 1.06E-05
e =
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A 20175417 H5-C25>%5 | ezns EEEEET LS
B E R Bm | AlEE | BEuE | mHERE | HEEB/cmd)| RXE ¥ F ADZE
E il 7:40~7:50 A9 | 3.24E-06 1.16E-05 1.16E-05 = _|
R’ 3.24E-06 1.53E-05
P fiz] 3.26E-06 1.29E-05 3
LS 9:20~9:30 = 326E-08 135E-05 1.53E-05 &
i 3.29E-06 1.37E-05
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(1[EENGD &
154)
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R’ 3.24E-06 9.18E-06
p 10~ 10- i) 3.26E-06 9.21E-06 3
EX% 10:10~10:20 3] = 326608 123505 1.37E-05 &
i 3.29E-06 1.37E-05
e =
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154)
it




= 20175417 H5-B55>5 = A5
B TE R Bm | AlE® | BEuE | mHERE|HEEB/cmd)| RXE ¥ F AhZE
[EES 7:50~8:00 [l 22 9A | 3.25E-06 1.96E-05 1.96E-05 &
R’ 3.25E-06 1.28E-05
P fiz] 3.36E-06 8.60E-06 3
% 9:00~9:10 = 324E-08 T 37E-06 1.28E-05 &
it 3.33E-06 1.24E-05
3
ek
(1[EENGD %
154)
[
R’ 3.25E-06 1.28E-05
p A0 9- i) 3.36E-06 1.35E-05 3
E%#% 12:30~12:40 3] = 3 24E-08 104E05 2.92E-05 &
it 3.33E-06 2.92E-05
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L
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= 201724 H10H H5-C253>%5 RED
B TE B AR EE | AEE | BEMNE | BRHERE|EEE®B/cm3)| RAE ¥ F ARE
[ES: 7:40~7:50 it A2 9MA | 3.24E-06 1.41E-05 1.41E-05 &
Y 3.24E-06 1.28E-05
EQ Q- fi] 3.26E-06 1.17E-05 3 -~
EEH 8:50~9:00 it = 3 26E06 154E-05 1.55E-05 &
it 3.29E-06 1.55E-05
3
e
(1EIENGD %
)
i
Y 3.24E-06 9.79E-06
; 1O 1 - i) 3.26E-06 1.04E-05 3 -~
L 10:10~10:20 | L& & 326E-06 123E-05 1.30E-05 &
it 3.29E-06 1.30E-05
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= 2017240100 H5-B55>5 R E
B E R Bm | AlE® | BlEuE | mHERIE | HEEB/cmd)| RXE ¥ F Ah&E
[EES 7:40~7:50 B[4 22 9A | 3.25E-06 1.84E-05 1.84E-05 =
R’ 3.25E-06 1.23E-05
P fiz] 3.36E-06 1.52E-05 3
LS 9:00~9:10 it # 3 24E-08 135505 1.57E-05 &
i 3.33E-06 1.57E-05
3
ek
(1[EENGD %
154)
[
R’ 3.25E-06 7.95E-06
p 20 10- i) 3.36E-06 9.50E-06 3
EX% 10:20~10:30 | L& = 3 24E-08 ~34E06 9.50E-06 &
it 3.33E-06 6.92E-06
3
L
(1[EENGD %
154) T
= 20174 H11H H5-B54>5 2L
B TE B A BE | AEE | BEMNE | BRHERE|#EE®B/cm3)| RAE ¥ F ARE
[ES: 8:00~8:10 [ A2 9MA | 3.25E-06 1.35E-05 1.35E-05 &
Y 3.25E-06 1.53E-05
0. i) 3.36E-06 1.27E-05 3 -
EEH 9:10~9:20 & 324E-08 129605 1.57E-05 =
it 3.33E-06 1.57E-05
3
e
(1EIENGD %
)
i
Y 3.25E-06 2.15E-05
; 20 1 () i) 3.36E-06 1.77E-05 3 -~
L 10:20~10:30 3] & 324606 153E-05 2.15E-05 &
it 3.33E-06 1.89E-05
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= 20175 4H13H H5-C2525
B TE R Bm | AlE®E | BlEuE | mHERE|HEEB/cmd)| RXE ¥ F AhZE
[EES 7:50~8:00 B[4 A2 9A | 3.24E-06 1.35E-05 1.35E-05 &
R’ 3.24E-06 2.57E-05
0. fiz] 3.26E-06 1.41E-05 3
% 9:10~9:20 it # 326608 154E-05 2.57E-05 &
it 3.29E-06 1.80E-05
3
ek
(1[EENGD %
154)
[
R’ 3.24E-06 1.77E-05
p A0~ - i) 3.26E-06 9.21E-06 3
E%#% 11:30~11:40 it # 326608 9 83E-06 1.77E-05 &
i 3.29E-06 1.37E-05
3
L
(1[EENGD %
154) T
= 20174 H14H H5-B545 T
B TE B A BE | AEE | BEME | BRHERE|EEE®B/cm3)| RAE ¥ F AAE ]
[ES: 7:50~8:00 [ A2 9MA | 3.25E-06 1.23E-05 1.23E-05 &
Y 3.25E-06 3.19E-05
A0~ g fi] 3.36E-06 2.50E-05 3 -~
EEH 8:30~8:40 & 324E-08 122605 3.19E-05 =
it 3.33E-06 2.95E-05
3
e
(1EIENGD %
)
i
Y 3.25E-06 1.04E-05
; Qe D- i) 3.36E-06 1.27E-05 3 -~
L 11:50~12:00 3] & 324606 153E-05 1.53E-05 &
it 3.33E-06 9.43E-06
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B E R B | AlEE_| BlEuE | mHERE | BEEB/cmd)| RXE ¥ F AhZE
[EES 8:10~8:20 B[4 A2 9A | 3.24E-06 1.35E-05 1.35E-05 &
R’ 3.24E-06 1.96E-05
A1 - fiz] 3.26E-06 1.23E-05 3
LS 10:30~10:40 it # 326608 135E-05 1.96E-05 &
it 3.29E-06 1.68E-05
3
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(1[EENGD %
154)
[
R’ 3.24E-06 2.26E-05
p 20 D- i) 3.26E-06 1.35E-05 3
E%% 12:20~12:30 it # 326608 1 04E-05 2.26E-05 &
i 3.29E-06 1.37E-05
3
L
(1[EENGD %
154) T
= 201734 H18H H5-A152% 2L
B 7E B A BE | AEE | BEMNE | BRHERE|#EE®B/cm3)| RAE ¥ F Afh ]
[ES: 9:30~9:40 [ A2 9A | 3.24E-06 1.16E-05 1.16E-05 &
Y 3.24E-06 1.35E-05
e fi] 3.26E-06 1.66E-05 3 -~
e 10:55~11:05 & 326E-06 1 35E-05 1.66E-05 =
it 3.29E-06 1.55E-05
3
e
(1EIENGD %
)
i
Y 3.24E-06 1.16E-05
; B 1. i) 3.26E-06 1.54E-05 3 -~
L 12:15~12:25 3] & 326E-06 921606 1.54E-05 &
it 3.29E-06 6.21E-06
3
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5 201754H18H DU H5-B45E— 5 E _AEHERER
B TE R Bm | AlEE_| BlEuE | mHERE | HEEB/cmd)| RXE ¥ F ADZE
[EES 9:30~9:40 A2 9A | 3.25E-06 1.53E-05 1.53E-05 &
R’ 3.25E-06 1.41E-05
AN 1 fiz] 3.36E-06 1.77E-05 3
e 1:30~11:40 [c:] 3.24E-06 1.16E-05 | "'77E70° &
E[4 3.33E-06 1.45E-05
3
ek
(1[EENGD %
154)
it
R’ 3.25E-06 7.36E-06
p T i) 3.36E-06 9.50E-06 3
frk 15:10~15:20 & [c:] 3.24E-06 1.356-05 | '39E70° &
E[4 3.33E-06 1.07E-05
3
L
(1[EENGD %
154) T
= 201734 H19H H5-A1%>% FERE 2B H AR
B TE B A BE | AEE | BEMNE | BRHERE|#EE®B/cm3)| RAE ¥ Ah#E
[ES: 8:10~8:20 [ A2 9A | 2.89E-06 1.09E-05 1.09E-05 &
Y 2.89E-06 1.75E-05
A0 i) 2.90E-06 1.21E-05 3 -
L 9:40~9:50 & 2'90E-08 212E-08 | 1-75E-05 &
it 2.93E-06 1.22E-05
3
e
(1EIENGD %
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4
Y 2.89E-06 1.47E-05
; 20 1 () i) 2.90E-06 1.21E-05 3 -~
3t 10:30~10:40 i = 2 50E06 603E-06 | 147E05 )
it 2.93E-06 1.22E-05
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= 20175 4H19H H5-B45>5 23Rk
B E R Bm | AlE®E | BlEuE | mHERE|HEEB/cmd)| RXE ¥ F AhZE
[EES 8:05~8:15 [l 22 9R | 2.90E-06 1.20E-05 1.20E-05 &
R’ 2.90E-06 1.75E-05
A1 0 fiz] 2.99E-06 3.95E-06 3
e 10:00~10:10 [c:] 2.89E-06 1.04E-05 | >18E-0° &
E[4 2.97E-06 2.18E-05
3
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(1[EENGD %
154)
it
R’ 2.90E-06 1.70E-05
p AF ~1a- i) 2.99E-06 1.24E-05 3
ES:S 13:45~13:55 i # 2'89E—08 12505 | 1-96E-05 &
it 2.97E-06 1.96E-05
3
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B TE B A EE | AEE | BEMNE | BRHERE|#EE®B/cm3)| RAE ¥ ABZE
[ES: 8:00~8:10 BlAc 225 | 2.90E-06 1.20E-05 1.20E-05 &
Y 2.90E-06 9.85E-06
00 ~0- fi] 2.99E-06 1.36E-05 3 -~
L 9:00~9:10 b iz} = 2 89E06 136E-05 | 1-36E-05 )
it 2.97E-06 1.29E-05
3
e
(1EIENGD %
158)
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Y 2.90E-06 1.09E-05
; 20 1 () i) 2.99E-06 1.13E-05 3 -~
3t 10:30~10:40 it = 2 89E06 131E-05 | 1-31E-05 )
it 2.97E-06 1.23E-05
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= PIINEZY; PZISH 5> No. H5-A15>%
B TE R Bm | AlEE | BEuE | mHERE | HEEB/cmd)| RXE ¥ F Ah&E
[EES 7:40~7:50 A2 9A | 2.89E-06 1.15E-05 1.15E-05 &
R’ 2.89E-06 1.80E-05
P fiz] 2.90E-06 1.75E-05 3
% 9:00~9:10 = 5 90E-08 931E-06 1.80E-05 &
it 2.93E-06 1.22E-05
fegen =
(1[EENGD m
154)
it
R’ 2.89E-06 1.25E-05
P A1 i) 2.90E-06 1.59E-05 3
E%#% 11:00~11:10 3] = 2'90E—08 6. 57E-06 1.59E-05 &
it 2.93E-06 8.31E-06
e =
(1[EENGD ]
154) T
= 20174 H25H H5-B45—% T
B TE B AR BE | AEE | BEMNE | BRHERE|#EE®B/cm3)| RAE ¥ F Ah#E
[ES: 7:40~7:50 [ A2 9MA | 2.90E-06 1.59E-05 1.59E-05 &
Y 2.90E-06 2.02E-05
o Q. i) 2.99E-06 1.64E-05 3 a~
EEH 9:25~9:35 & 2'89E-06 2 136-05 2.92E-05 =]
it 2.97E-06 2.92E-05
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(1EIENGD ﬁ
158)
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Y 2.90E-06 1.81E-05
; 20 1 () i) 2.99E-06 1.41E-05 3 -~
L 10:20~10:30 3] & 2'89E-06 207605 2.64E-05 &
it 2.97E-06 2.64E-05
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